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5 X 4 (T; -Fiﬁ’ﬁfJ(:)o)ftEr‘ﬁ'E jj(g')\lj/kn%é X 4 ‘Fmﬁ?é%z(?niki .Z,n? jj(g')\;tﬁé R 4 .(Er,na; J:Jﬁﬁ?ﬁ(:)a)ttﬁ jj(lfifn?)é R 4 Lmh(z)wtt.a .(Er,n? jn(gi;tn?)é
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
TS 1.00] 000 ~ 6.75 85.27] #hrls 000 ~ 675 1.64 8.27 ZThLLSE 1.00] 500 ~ 855 85.27| #hbist | 500 ~ 855| 1.64 8.27
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
ZThLS 1.00/ 000 ~ 6.11 76.65| #nList |000 ~  6.11] 1.91 9.66 Zh LS 1.00] 500 ~ 745 76.65| #hList | 500 ~ 7.45] 1.91 9.66
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS 1.00/ 000 ~ 6.11 76.65| #nList |000 ~  6.11] 1.91 9.66 Zh LS 1.00] 500 ~ 745 76.65| #hList | 500 ~ 7.45] 1.91 9.66
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
ZThLS 1.00] 000 ~ 582 7282 #Fnbist |000 ~ 582| 181 9.13 Zh LS 1.00] 500 ~ 6.60 7282 #hlist | 500 ~ 6.60] 1.81 9.13
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Lt 1.0010.00 ~ 486 60.59] ZnList | 000 ~ 486] 1.93 9.78 Lt 1.00f 500 ~ 556 60.59] ZnLis | 500 ~ 556 1.93 9.78
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZThLS 1.00/ 0.00 ~ 460 5742 #hils 000 ~ 460| 2.19 11.06 Zh LS 1.00] 500 ~ 6.76 5742| Fhils | 500 ~ 6.76] 2.19 11.06
7 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00{ 0.00 ~ 5.33 66.50| ZnList | 000 ~ 533] 2.17 10.97 Zh st 1.00f 500 ~ 8.00 66.50| Zn Ly | 500 ~ 800 217 10.97
8 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 6.77 85.61| ZnList | 000 ~ 6.77| 1.60 8.10 Zhn st 1.00f 500 ~ 8.90 85.61| ZnLis | 500 ~ 890 1.60 8.10
9 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00{ 0.00 ~ 7.36 93.85| Zn L4t | 000 ~ 7.36] 1.93 9.77 st 1.00f 500 ~ 11.08 93.85| #nList | 500 ~ 11.08 1.93 9.77
10 100kN/mM##BZ % 1.00{0.00 ~ 0.46 106.84|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 12.68 ~ 14.82 106.84|3m%E#B %% = ~ = = =
ZnLst 1.00] 046 ~ 8.25 100.00] Zh st |0.00 ~ 8.25] 1.93 9.76 Zh st 1.00f 500 ~ 12.68 100.00f Z1List | 500 ~ 1482 1.93 9.76
11 100kN/mM##BZ 5 1.00{0.00 ~ 048 107.07|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 11.53 ~ 13.26 107.07|3m%E# %% = ~ = = =
ZnLst 1.00] 048 ~ 8.26 100.00] Zhist | 0.00 ~ 8.26] 2.00 10.09 Zhn st 1.00f 500 ~ 11.53 100.00f Z1List | 500 ~ 13.26f 2.00 10.09
12 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
Zhn Lot 1.00{ 0.00 ~ 547 68.32| #nList | 000 ~ 547 1.57 7.94 Zzh st 1.00f 500 ~ 6.50 68.32| 1Ly | 500 ~ 6.50[ 1.57 7.94
13 100kN/mM%#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ 5 -~ = = =
Zn Lot 1.00{ 0.00 ~ 7.66 98.15| ZnList | 000 ~ 7.66| 1.93 9.78 Zh Lot 1.00f 500 ~ 1211 98.15| #n Ll | 500 ~ 12,11 1.93 9.78
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